%
AMmenrican IMFG.

A HITCHINOL COMPANY

131 County Rd. 34 E. Jackson MN, 56143 1.800.446.8222
www.eagleplows.com

2822 — CUB CADET TRACKER / VOLUNTEER PLOW MOUNT

Use the attached page to help with part identification during installation.

Tools:
9/16 Wrench 3/8” Drill Bit
9/16 Socket & Ratchet Drill

Plow Mount Installation:
STEP 1: Remove the two lower bumper bolts from each side of the bumper.

STEP 2: Place a 3/8 flat washer (Item 5) on four of the 3/8 x 1” hex bolts (Item 4). Hold the plow mount (Iltem 1) up to
the front of the machine and line the holes on the sides of the plow mount up with the holes where the bolts were just
removed from. Insert one of the 3/8 bolts with a washer through the hole in the plow mount and through the
corresponding hole in the bumper. Place another 3/8 flat washer (Item 5) on the bolt from the inside of the bumper, and
start a 3/8 Nylock nut (Item 3) on the bolts. Repeat for the three remaining holes on the sides of the plow mount.

STEP 3: Square the mount up to the machine and then fully tighten the four bolts, working in a criss-cross pattern to keep
the mount straight.

STEP 4: Using the two holes in the front of the plow mount as a template, drill through the front bumper. Place a 3/8” flat
washer (Item 5) on the two remaining 3/8 x 1” hex bolts (Item 4) and place them through the two holes in the plow mount
and the holes that were just drilled. Place a 3/8 flat washer (Item 5) on each of the bolts and then start a 3/8 Nylock nut
(Item 3) on each bolt. Fully tighten.

*NOTE: There will be four extra bolts left over in the hardware kit after installation is complete. The two M10 x 30mm
bolts and two 3/8 x 1-1/4” bolts are not needed for this mount.

Attaching the Push Tube to the Plow Mount:
STEP 1: Roll the UTV over the push tube assembly.

STEP 2: Lift the push tube up to the plow mount and line the holes in the ears on the push tube up with the
holes in the ears on the plow mount.

STEP 3: Insert each of the 3/4 x 2” clevis pins (Item 7) through the holes and secure in place using the hair pin
clip (Item 8).

STEP 4: Attach the lift system of choice and the plow is ready for use.
Removing the Push Tube from the Plow Mount:

Reverse the previous steps to remove the push tube. Once the 3/4” pins are removed, place them back into the holes on the
push tube assembly with the hair pin clips to prevent them from getting lost when the plow is not in use.

Additional Notes:

o Periodically check all mounting hardware.
o (Optional) Mount the cable stop (Item 2) using the wire clip (Item 6) along the winch cable to prevent interference
between the plow system and machine when the plow is lifted.

HDW1328 Rev. A
ECO 1471



SNOILNYISNI NOILVTIVLISNI INNOIWW MO1d
YIFINNTOA / ¥IDVYYL 13aVD 9ND - 28T

3015 SIHL MO IS IHL 51
IV MOYYH SMILNNON

B/E-9T/L VI8 T MiddlwH | £ | T97TAMaH g
NZ'LS TH B MId 5IATTD 7 | oszimaH I
41T 340 - 144 1 9T/E T | iFzTMaH g

Z IS L4 W BFE HIHST M IT| £TZTMAH g

Z 54D WIH 00 TX 9T-8/5 1709 | 9 0ZZMOH ¥

AIOTAM 9T-5/€ LA g EFOLTH £

4015 31970 T F-9T6E z

LMW od T £-TTRT 1
MO 1L IH0530 A0 438NN Lewd %m@_

Rev. A
ECO 1471

HDW1328



